Start	Sem.2	2023-24							
College									
Now									
Course	College	Similar Course at Shiocton HS	H.S. Credit	College Credit	Cost	Number of Students	Total Cost	Paid By	Approved
College 101	NWTC	None	0.5	1.0	\$160	3	\$480	District	х
Developmental Psychology	NWTC	None	1.0	3.0	\$480	1	\$480	District	x
General Anatomy & Physiology	NWTC	None	1.0	4.0	\$640	2	\$1280	District	x
Intro to Sociology	FVTC	None	1.0	3.0	\$480	3	\$1440	District	x
Customer Service	NWTC	None	1.0	3.0	\$480	1	\$480	District	х
Human Resource Management	NWTC	None	1.0	3.0	\$480	1	\$480	District	x
Forensic Science	FVTC	None	1.0	3.0	\$640	1	\$640	District	x
Transformational Leadership	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Fund of Design	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Medical Terminology	NWTC	None	1.0	3.0	\$480	1	\$480	District	x
Economics	FVTC	None	1.0	3.0	\$480	5	\$2,400	District	х
Math w/Business apps	FVTC	None	1.0	3.0	\$480	3	\$1440	District	x
Psychology of Human Relations	FVTC	None	1.0	3.0	\$480	2	\$960	District	x
Agricultural Crop Production	FVTC	None	1.0	3.0	\$480	1	\$480	District	x

Animal Health	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Nutrient Management	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Intro to Ethics	FVTC	None	1.0	3.0	\$480	5	\$2400	District	x
Intro to Diversity Studies	FVTC/NWTC	None	1.0	3.0	\$480	4	\$1920	District	x
Introd Statistics	FVTC/NWTC	None	1.0	3.0	\$480	4	\$1920	District	x
Basic Anatomy	FVTC/NWTC	None	1.0	3.0	\$480	1	\$480	District	х
Mental Health Disorders	FVTC/NWTC	None	1.0	3.0	\$480	1	\$480	District	x
College Technical Math 1A	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Intro to Psychology	FVTC	Yes - students have schedule conflict	1.0	3.0	\$480	2	\$960	District	x
English Composition 2	NWTC	None	1.0	3.0	\$480	1	\$480	District	x
Adv. Anatomy & Physiology	FVTC	None	1.0	4.0	\$640	1	\$640	District	x
Principles of Accounting	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Business Ethics	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Number of students requesting:	22	1				Total Approved Estimate Cost::	\$23,680		

Early College					Cost	Number of	Total Cost	Paid by	Approved
Credit Program						Students			
Survey of Nutrition	UW-Green Bay	None	0.5	1.0	\$348	1	\$348	District	x
Intro to Philosophy	UW-Green Bay/UW-Osh kosh	None	1.0	3.0	\$1043	1	\$1043	District	x
Intro to Literature	UW-Green Bay	None at university level	1.0	3.0	\$1043	1	\$1043	District	×
Intro to Humanities	UW-Green Bay	None	1.0	3.0	\$1043	1	\$1043	District	x
Intro to Theater Arts	UW-Green Bay	None	1.0	3.0	\$1043	1	\$1043	District	х
College English 1	UW-Oshkosh	None	1.0	3.0	\$1043	1	\$1043	District	x
Honors Composition	UW-Oshkosh	None	1.0	3.0	\$1043	1	\$1043	District	x
Writing Based Inquiry	UW-Oshkosh	None	1.0	3.0	\$1043	1	\$1043	District	x
Intro to the Earth	UW-Milw	None	1.0	3.0	\$1043	1	\$1043	District	x
Contemp Appl of Math	UW-Milw	None	1.0	3.0	\$1043	1	\$1043	District	x
College Writing&Research	UW-Milw	None	1.0	3.0	\$1043	1	\$1043	District	х
Number of students requesting: 2 *					* A portion of ECCP expense	Total Approved Estimate Cost::	\$10,778		
*(2 students planning to take 3 of these courses)					is paid by the state				

				1	-	1			I
Distance Learning									
American Sign Lang 2	NWTC	None	1.0	3.0	\$425	2	\$850	District	x
Number of Students Requesting:	2					Total Approved Estimate Cost:	\$850		